TIN—TR—Lidstk ABREHRRKR

AEE
"HEAH

&R A
A%

3
Tt
s

i

=] JT
HEEAE
EEILE
PN

ZERRIEA
B

ARE-R
=0k 97

SH4E8 260 RAE
az=ybk | EEAH ®Hl | A=vk | Bt ik EHER| 2=vh | B ik At
NE 9% NE £ 84 NE 78.0 89.4 88.1
RE 9% HE 04 9% B 86.1 86.1
EXL2N 184 EXZ 14 174 21K 78.0 87.6 87.1
1zob | BxiE2 | ENET | ENE2 | BNES | ENEL | BENES He's 1EKE | 1~3% | 3~5% | SELLE
NE 0 3 1 3 1 1 NE 3 3 2 1
R 0 2 2 3 2 0 B 3 2 2 2
XN 0 5 3 6 3 1 LN 6 5 4 3
Fy 2.56
J A1 A2 B1 B2 c1 c2 éi@ﬁ? I Ia Ib Ma b v v
INE 0 0 8 0 1 0 0 %Qﬁ% NE 0 2 1 5 1 0 0
wE 0 0 7 0 2 0 0 K= 0 3 2 3 1 0 0
ELZN 0 0 15 0 3 0 0 21K 0 5 3 8 2 0 0
NE B E A&t R 128 |&fn3&28| 48 6H 88 108 128 |[sfam2A 48 6H 8A
N 0 0 0 NE 88.2 86.3 86.2 86 86.1 87 87.4 86.8 86.2 88.1 88.1
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